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𝐶𝑇𝑇∗ = 𝐶𝑢𝐷 + √2𝐶𝑜𝐷𝐶ℎ 

 
1.1 Modelo de Compra sin deficit: 
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2𝐶𝑜𝐷
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𝐶𝑇 = 𝐶𝑢𝐷 + 𝐶𝑜

𝐷

𝑄
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𝐶𝑇𝑇∗ = 𝐶𝑢𝐷 + √2𝐶𝑜𝐷𝐶ℎ (1 −
𝐷

𝑃
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1.2 Modelo de Manufactura sin déficit: 
 

 

 

 

𝑆 = 𝑄∗
𝐶ℎ

(𝐶ℎ + 𝐶𝑠)
 

𝑄∗ = √
2𝐶𝑜𝐷(𝐶ℎ + 𝐶𝑠)

(𝐶ℎ𝐶𝑠)
 

𝐶𝑇𝑇∗ = 𝐶𝑢𝐷 + √
2𝐶𝑜𝐷𝐶ℎ𝐶𝑆

(𝐶ℎ + 𝐶𝑠)
 

𝐶𝑇𝑇∗ = 𝐶𝑢𝐷 + 𝐶𝑜

𝐷

𝑄
+ 𝐶ℎ𝑄

𝐶𝑆

2(𝐶ℎ + 𝐶𝑠)
 

 
1.3 Modelo de Compra Con déficit: 
 

 

 

 

 
 

𝑆 = 𝑄∗
𝐶ℎ (1 −

𝐷
𝑃)

(𝐶ℎ + 𝐶𝑠)
 

𝑄∗ = √
2𝐶𝑜𝐷(𝐶ℎ + 𝐶𝑠)

𝐶ℎ𝐶𝑠 (1 −
𝐷
𝑃

)
 

𝐶𝑇𝑇∗ = 𝐶𝑢𝐷 + √
2𝐶𝑜𝐷𝐶ℎ𝐶𝑆 (1 −

𝐷
𝑃)

(𝐶ℎ + 𝐶𝑠)
 

 
1.4 Modelo de Manufactura Con déficit: 
 
 

 

 

 

 


